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ENGLISH VERSION

Instruction : Write all answers in main answer sheet.

1 MCQ.

ey

)

3)

4)

()

©6)

()

Who gave the definition "Personal Adjustment is a
process of interaction between ourselves and our

environment" ?

(A) Lehner and Kube (B) Wundt

(C) William James (D) Macguyoak
How many main types of family ?

(A) Four (B) Three

(C) Two (D) Five

For child the first day school experience is
(A) Happy (B) Problematic

(C) Confused (D) None

Which is vocation gives to a person ?

(A) Fantasy choices (B) Interest

(C) Satisfaction (D) Tentative choice
In which age girls reach perfect sexual maturity ?
(A) 11-12 years (B) 14-15 years

(C) 12-13 years (D) 15-16 years

How many types of improvement of adjustment by
Lehner and Kube ?

(A) Two (B) One

(C) Four (D) Three

In which reasons induced critical position in family ?
(A) Accident (B) Unemployment

(C) Illness (D) Wars

20
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(8) How many components are important for efficient study ?

(4) Six B) Five
(C) Four (D) Three
9 How many conditions indicated in Job by Lehner and
Kube ?
A) Two (B) Three
(©) Four (D) Five

(10) At what age do the boys and girls attract each other ?
(A) 12 to 13 years (B) 13 to 14 years
(C) After 15 years (D) 14 to 15 years

(11) Adjustment is moving process.
(A) Continuous (B) Daiscontinuous
(C) One way (D) None

(12) How many functions of family according to Macawre ?
(A) Two (B) Three
(C) Four (D) Five

(13) How many factors are responsible for effective learning ?

A Six (B) Eight
(C) Ten D) Twelve
(14) "Permanent Problem in job adjustment" who made this
sentence ?
(A) Weizmann (B) Pafanbarjar
(C) Watson (D) Skinner

(15) Which is not a problem of married life ?
(A) Economical problem
(B) Physical problem
(C) Psychological problem

(D) Personal problem
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(16) Which type is process of adjustment ?

17

(19)

(A) One-way (B) Mentally
(C) Two-way (D) None
satisfaction is most important work of family.
(A) Psychological needs
(B) Physical needs
(C) Social needs
(D) Economical needs
(18) According to "there is nothing that teacher
cannot do".
(A) Allport (B) Bran Ford
(C) Bertrand Russel (D) Dr. Radha Krishnan
Job adjustment has differences.
(A) Intellectual B) Individual
(C) Social (D) Economical

(20)

Which gland develops faster during the age of

adolescent ?

A)
©

Thyroid (B) Adrenaline

Pituitary (D) Sexual

What is Adjustment ? Discuss the characteristics of

adjustment.

OR

What is family ? Discuss the prolems of family life.

Explain the factors effecting of job satisfaction.

OR

Describe the factors affecting selection of life partner.
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4 (@) Write short notes : (any one) 8
@) Function of family

@) Discuss the relationship of teacher and student

(b) Write short note : (any one) 8
@) Improvement of Adjustment

@) Factors effeting of vocation choice

5  Write answers in short : (any two) 14
(1) School — A New Experience
(2) Why did some people no marriage ?
(3) Be women vocation

(4) Process of adjustment
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